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Να λύσετε τις εξισώσεις : 
 
Α. 

1. ημχ = 
2
1  

2. συνχ = 
2
3  

3. εφχ = - 3  

4. σφχ = - 
3
3  

 
 
Β. 

1. (2ημχ + 2  )(1+συνχ)(2συνχ- 2 )=0 
 
2. (-1+συνχ)(1-2ημ2χ)εφχ = 0 

 
3. (ημχ+συνχ)(1+2συν2χ)(3-4ημ2χ)=0 

 
 
 
Γ. 

1. ημχ = ημ 





 π

−
3

x2  

2. συν )x
4

( +
π  = συν )

3
x2( π

+  

3. εφ(χ+π) = εφ(3χ – 
4
π ) 

4. σφχ = σφ(4χ +
3
π ) 

 
 
Δ. 

1. ημ(2χ + 
3
π ) = - 

2
1  

2. 2συν(χ + 
4
π ) + 3  = 0 

3. 3εφ(3χ – 
4
π ) + 3  = 0 

 
 
 
 

Ε. 
1. 2συν2χ + 7ημχ – 5 = 0 
 
2. 2ημ2χ – 3συνχ + 1 = 0 
 
3. 3εφ2χ - 2 3 εφχ – 1 = 0 
 
4. σφ2χ – (1+ 3 )σφχ + 3  = 0 
 
 
ΣΤ. 
1. ημ2χ = συν2χ 
 
2. ημ2χ = συν23χ 
 
3. εφ22χ = σφ2χ 
 
 
 
Ζ. 

1. συν2(χ + 
4
π ) – ημ2(2χ –

3
π ) = 0 

2. εφ2(2χ – 
3
π ) – σφ2(χ + 

4
π ) = 0 

 
 
Η. 
1. 2ημχσυνχ + ημχ = 1 + 2συνχ 
 
2. 4ημ3χ + 3 ημχ = 2(1+ 3 )ημ2χ 
 
3. 1 + ημχσυνχ + ημχ + συνχ = 0 
 
4. ημ2χ -(1- 3 )ημχσυνχ - 3 συν2χ=0 
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